Homewsrk 1% @

ma = 345 m:3kJ

@ = A+ 2]

\’/:"114'?5‘}4‘( C=0 sihu \/;Oo/(L;O
5

\,/:H-I'ELj

v =(bi+104)ms™

o=z 0 905 ms-2

O = ’VE- ../bmg mr!()dfm;i sa jJO°
O - —g‘—O‘lx73wf|O°’735;nl()°



) P
o A VE :ﬂgk
:0-4)&7'83(3
—q

759, f N7( - 3827 (.02 ;NXA
75«% y .82 = (627 Y :0"'_7‘([

h = /'éﬁy_y\.

7 F = wma #% ’Zf"./),?:(,:rz_f" -.-:%c\
/u:ZSA*/oﬂgn?fu = 9’(3

" Sia2SS —pns 28 v 2
7S2AN +/ust‘/\25"° R b ‘




\r(,l = —ijJ’&‘Q’ 23/("(/01‘@)

w' = ’Bﬁflfﬁ)'(g*f '23r w=I Sms-?
! r=0 San
Kf'i-iax&fwn9+23x05'
(:9 - q?éu \IZ; ,;31 wos 4
. \[: ij,@g&

v =0 qo4m§"

—Y




00 L = asaw snlw = Liiw s

2. 7 x < as.l23E

3 y O 6 - af’..\ "27

wrw = 11 o D.L3{m
e = ['23 = T






